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GROUP-A [English]

Answer all the questions.

1. Fill in the blanks with appropriate words derived from the

words given in the brackets at the end of each sentence.

Attempt any five :                                                                 1x5=5

(a) Your ...................... are being closely watched.

(active)

2007 (A)

Time - 3 Hrs.

Full Marks : 40+40
Pass Marks : 26

Answer from both groups separately and in sequence as per

direction given in each case in own words.

nksuksa xzqiksa ds iz'uksa dk mÙkj vyx&vyx] Øeokj izR;sd xqzi esa fn;s x;s

funsZ'k ds vuqlkj vius 'kCnksa esa nsaA

The figures in right hand margin indicate full marks.

ik'oZ ds vad iw.kk±d ds lwpd gSaA
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(b) Women are not ............... inferior to men.  (biology)

(c) Radio-active substances emit .................. kinds of

rays.        (vary)

(d) One expects nice ........................... from a college

student.

    (behave).

(e) The game of cricket demands much .............. .

(dexterous)

(f) They will be ....................... for the lapses on their

parts.   (penalise)

(g) Copper is a good ....................... of electricity.

(conduction)

(h) Electronic ................ are extremely useful for carrying

out mathematical calculations quickly.       (calculate)

2. Do as directed in each of the following cases. Attempt

any five.                                                      1x5=5

(a) SLV-3 weighs about 17 tonnes.

(change into Negative Question)

(b) Aluminium is more durable than cast iron.

(Rewrite the sentence using the objective in the

positive degree)

(c) Red switches break the circuits.

(Make it a passive sentence)

(d) They wish they (not join) this factory.

(Supply appropriate verb-form)

(e) Steel is tempered to increase its hardness.

(Make it an Active sentence)

(f) Nuclear power is very important now.

(Into Future Tense)

3
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(g) They did something for us.

(Into Negative Question)

3. Read the following passage carefully and answer the

questions that follow :                                           10

The designs used in the stamping machines are made in

Bombay (now Mumbai) and Calcutta (Kolkata of

today). They are moulded into plaster casts, and then

transferred on to dies. These master-dies are sent to

all the three mints to ensure standardization of minting.

The newly minted coins are checked for weight,

diameter, surface scratches and discolouration. Then

they are counted, bagged and delivered to the banks,

where they pass into circulation.

4 5

(a) Where are the designes in the stamping machines

made?

(b) Why are the master dies sent to all the three

mints?

(c) What are the newly minted coins checked for ?

(d) Why are coins counted, bagged and delivered

to the banks ?

(e) Give a title to the passage above.

4. Write a paragraph, in about 150 words, on one of the

topics given below :                                                         08

(a) Technical Education : The Need of the Hour.

(b) Indiscipline in Educational Institutions.

(c) Handsome Is That Handsome Does.
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5. Write a Short Tender Notice in the name of the Principal,

ITI, Digha, Patna inviting tenders for repair and maintenance

work of the building of the institute.                             05

OR,

Write a letter to the Manager of a firm requesting him

to send you a catalogue of items.

6. Write a report on the losses caused by a fire-incident

in a locality of the poor. Do also suggest certain relief

and rehabilitation-measures.                                     07

OR,

Write a letter in the name of the Principal, L.S.College,

Muzaffarpur to the supplier placing order for supplying

books for the college library.

Group-B [Hindi]

¼lHkh iz'uksa ds mÙkj nsa½

7.(v) funsZ'kkuqlkj mÙkj nhft, &                               1x6=6

(i) vo] le~ milxZ yxkdj ,d&,d 'kCn cuk,¡A

(ii) tks lc dqN tkurk gSA ¼vusd 'kCnksa ds fy, ,d 'kCn fy[ksa½

(iii) rqEgkjk fe= vkt fo|ky; ugha tk,xkA ¼iz'uokpd okD;

esa cnydj fy[ksa½

(iv) xk; vkbZ vkSj pyh xbZA ¼ljy okD; esa cnfy,½

(v) og esjs dks cqyk jgk FkkA ¼okD; dks 'kq) djds fy[ksa½

(vi) gs jk"VªHkDrksa e`R;q dk Hk; feF;k gS drZO; esa izekn djuk

iki gS ¼fojke&fpà yxkb,½
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(vi) lkjax 'kCn fdldk i;kZ;okph gS &

(a) fgj.k dk (b) isM+ dk

(c) Qwy dk (d) mijksDr lHkhA

8. fuEufyf[kr x|ka'k ds vk/kkj ij iz'uksa ds mÙkj nsa %&              10

gekjh fgUnh ltho Hkk"kk gSA blh dkj.k] blus vjch] Qkjlh vkfn

ds lEidZ esa vkdj buds 'kCn rks xzg.k fd;s gh] vc v¡xjsth ds Hkh

'kCn xzg.k djrh tk jgh gSA bls nks"k ugha xq.k gh le>uk pkfg,

D;ksafd viuh bl xzg.k'kfDr ls fgUnh viuh o`f) dj jgh gS] gzkl

ughaA T;ksa&T;ksa bldk izpkj c<+sxk] R;ksa&R;ksa blesa u;s 'kCnksa dk

vkxeu gksrk tk,xkA D;k Hkk"kk dh fo'kq)rk ds fdlh Hkh i{kikrh

esa ;g 'kfDr gS fd og fofHkUu tkfr;ksa ds ikjLifjd laca/k dks u gksus

ns vFkok Hkk"kkvksa dh lfEeJ.k fØ;k esa #dkoV iSnk dj ns \ ;g

dHkh laHko ughaA gesa rks dsoy bl ckr dk è;ku j[kuk pkfg, fd

bl lfEeJ.k ds dkj.k gekjh Hkk"kk vius Lo:i dks rks ugha u"V dj

jgh] dgha vU; Hkk"kkvksa ds csesy 'kCnksa ds feJ.k ls viuk :i rks

fod`r ugha dj jghA vfHkizk; ;g fd nwljh Hkk"kkvksa ds 'kCn] eqgkojs

8

(c) fuEukafdr iz'uksa ds fy, fn;s x;s pkj fodYiksa esa ls lgh mÙkj pqudj

fy[ksa%&                                                                      1x6=6

(i) vke dk rRle 'kCn gS &

(a) vkej (b) vkez%

(c) vkxZ (d) buesa ls dksbZ ughaA

(ii) lekt dk fo'ks"k.k gS &

(a) lekth (b) lezkt

(c) lkekftd (d) buesa ls dksbZ ughaA

(iii) lw;Z dk i;kZ;okph 'kCn gS &

(a) panz (b) vkdk'k

(c) jfo (d) mijksDr lHkhA

(iv) ijk/khu dk foykse 'kCn gS &

(a) Lok/khu (b) LokfHkeku

(c) lEeku (d) buesa ls dksbZ ughaA

(v) olu 'kCn iz;ksx fd;k tk ldrk gS &

(a) diM+k ds fy, (b) ?kj ds fy,

(c) xkM+h ds fy, (d) mijksDr lHkhA
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vkfn xzg.k djus ij Hkh fgUnh] fgUnh gh cuh jgh gS ;k ugha] fcxM+dj

dgha og dqN vkSj rks ugha gksrh tk jgh \

(i) bl x|ka'k dk mfpr 'kh"kZd D;k gks ldrk gS \           1

(ii) fgUnh esa u;s 'kCnksa dks xzg.k djrs le; fdu ckrksa dks è;ku

esa j[kuk pkfg, \                                                     2

(iii) ltho Hkk"kk ls D;k rkRi;Z gS \ gekjh ltho Hkk"kk D;k gS\

Li"V djsaA                                                                2

(iv) fgUnha esa u;s 'kCnksa dk vkxeu D;ksa mfpr gS \                 1

(v) Hkk"kk dh fo'kq)rk D;k gS \ D;k Hkk"kk dh fo'kq)rk

laHko gS\                                                                  2

(vi) fgUnh Hkk"kk dh og dkSu&lh fo'ks"krk gS ftls ys[kd us xq.k

ekuk gS] nks"k ugha \                                      2

9. jktuhfrd foHkkx ds vij milfpo dh vksj ls lHkh ljdkjh foHkkxksa

ds lfpoksa] lHkh izeaMyksa ds vk;qDrksa] lHkh ftyk inkf/kdkfj;ksa vkSj

iqfyl egkfuns'kd] fcgkj rFkk iqfyl miegkfujh{kd] [kqfQ;k  iqfyl

11

foHkkx dks Hksts tkusokys i= dk izk:i rS;kj djsa ftlesa x.kra=

fnol lekjksg dk dk;ZØe fn;k x;k gksA                          06

vFkok ]

fdlh nSfud lekpkj&i= ds laiknd ds ikl ,d i= fy[ksa ftlesa

'kgj esa py jgs voS/k vfrØe.k gVkus ds dk;ZØe ds dkj.k ukxfjdksa

dks gks jgh vlqfo/kk dh vksj è;ku vkd`"V fd;k x;k gksA

10. ^lekpkj&i=* vFkok ^f'k"Vkpkj dk egRo* ij ,d vuqPNsn fy[ksaA

¼'kCn lhek & 100 'kCn½                                                                           06

11. fuEufyf[kr esa ls fdlh ,d ij 100 'kCnksa esa laf{kIr fVIi.kh

fy[ksa%                                                                            06

(i) v)Zljdkjh i=

(ii) dk;kZy; vkns'k

(iii) izsl lwpukA



vFkok ]

Nk=kokl esa LFkku&izkfIr ds fy, vius egkfo|ky; ds izkpk;Z dks

,d vkosnu&i= fy[ksaA
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